
MATHS

BOOKS - DEEPTI MATHS (TELUGU ENGLISH)

INVERSE TRIGONOMETRIC FUNCTIONS

Examples

1. 

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

tan− 1 =
cos x

1 + sinx

−
π

3
x

2

−
π

4
x

2

+
π

3
x

2

+
π

4
x

2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LpLyX7u6rAA0


Watch Video Solution

2. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin− 1(2 cos2 x − 1) + cos − 1(1 − 2 sin2 x) =

π/2

π/3

π/4

π/6

3. 

A. x/y

B. y/x

C. 2x/y

tan[ + cos − 1 ] + tan[ − cos − 1 ] =
π

4

1

2
x

y

π

4

1

2
x

y

https://dl.doubtnut.com/l/_LpLyX7u6rAA0
https://dl.doubtnut.com/l/_CEWFoDZFZWO1
https://dl.doubtnut.com/l/_ttY6OVHAWlRm


D. 2y/x

Answer: D

Watch Video Solution

4. If , then x =

A. 

B. 

C. 

D. 1

Answer: C

Watch Video Solution

sin− 1 x + 4 cos − 1 x = π

1/2

1/√2

√3/2

5. Range of  issin− 1 x + cos − 1 x + tan− 1 x

https://dl.doubtnut.com/l/_ttY6OVHAWlRm
https://dl.doubtnut.com/l/_FZGsS9ZPekpU
https://dl.doubtnut.com/l/_RCukGlfhhMpQ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[0, π)

(0, π]

[π/4, 3π/4]

[0, π]

6. If  are two angles of a triangle, then the third angle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1 2, tan− 1 3

30∘

45∘

60∘

75∘

https://dl.doubtnut.com/l/_RCukGlfhhMpQ
https://dl.doubtnut.com/l/_Ge8kHq75XhIW


7. For , the value of 

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0 ≤ cos − 1 x ≤ π and − ≤ sin− 1 x ≤
π

2

π

2

cos(sin− 1 x + 2 cos − 1 x)at x =
1

5

−2√6

5

−√6

5

2√6

5

√6

5

8. If two angles of a triangle are , then

the third angle is

A. 

B. 

sin− 1( ) and sin− 1( )
1

√5

1

√10

π

4

π

2

https://dl.doubtnut.com/l/_Ge8kHq75XhIW
https://dl.doubtnut.com/l/_wY9d3USNHh3s
https://dl.doubtnut.com/l/_aiTSvg47ho7P


C. 

D. 

Answer: C

Watch Video Solution

3π

4

2π

3

9. If  and x is a root of the equation 

, then value of k is

A. -2

B. -1

C. 1

D. 2

Answer: B

View Text Solution

sin− 1(1) − sin− 1√ =
3

x

π

6

x2 + kx − 12 = 0

https://dl.doubtnut.com/l/_aiTSvg47ho7P
https://dl.doubtnut.com/l/_fp9Vspmj0Cif
https://dl.doubtnut.com/l/_XkeV1Suww30I


10. If , then

x is equal to

A. 1

B. 

C. ab

D. 

Answer: C

Watch Video Solution

sec− 1( ) − sec− 1( ) = sec− 1(b) − sec− 1(a) and a ≠ b
x

a

x

b

±ab

−ab

11. Domain of  is

A. [-4, -3]

B. [-3, -2]

C. [-2, -1]

D. [-1, 0]

cos − 1[log2(x
2 + 5x + 8)]

https://dl.doubtnut.com/l/_XkeV1Suww30I
https://dl.doubtnut.com/l/_JdkCw3ddDjCk


Exercise 1

Answer: B

Watch Video Solution

1. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1(sin ) =
2π

3

π/12

π/3

3π/4

π/6

2. cos − 1(cos ) =
5π

4

https://dl.doubtnut.com/l/_JdkCw3ddDjCk
https://dl.doubtnut.com/l/_DNKnyqNuq7XE
https://dl.doubtnut.com/l/_r0w0JmIilUCT


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5π/4

3π/4

−3π/4

−5π/4

3. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1(tan ) =
2π

3

π/12

−π/3

3π/4

π/6

https://dl.doubtnut.com/l/_r0w0JmIilUCT
https://dl.doubtnut.com/l/_M4QBvTOPN4e7


4. The value of  is

A. 10

B. 

C. 

D. none

Answer: C

Watch Video Solution

sin− 1(sin 10)

10 − 3π

3π − 10

5. 

A. 

B. 

C. 

2 tan− 1(3/4) =

sin− 1(24/25)

sin− 1(12/13)

sin− 1(23/24)

https://dl.doubtnut.com/l/_M4QBvTOPN4e7
https://dl.doubtnut.com/l/_EWCTtUoeyyGY
https://dl.doubtnut.com/l/_CKeP9avbWYzX


D. 

Answer: A

Watch Video Solution

sin− 1(13/12)

6. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin(2tan− 1 ) =
3

4

sin(4tan− 1 )
1

3

sin(2tan− 1 )
1

3

cos(2tan− 1 )
1

7

cos(4tan− 1 )
1

7

7. sin[4  arc tan ] =
1

3

https://dl.doubtnut.com/l/_CKeP9avbWYzX
https://dl.doubtnut.com/l/_MMlqgungdX2k
https://dl.doubtnut.com/l/_yycqQltg4iiR


A. 24/25

B. 25/24

C. 27/29

D. 29/27

Answer: A

Watch Video Solution

8. 

A. 0

B. -1

C. 1

D. 

Answer: C

Watch Video Solution

tan( cos − 1 0) =
1

2

1/2

https://dl.doubtnut.com/l/_yycqQltg4iiR
https://dl.doubtnut.com/l/_8eY8FajcO2H9


9. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan[ cos − 1( )] =
1

2

√5

3

3 + √5

2

3 − √5

2

4 + √5

2

4 − √5

2

10. 

A. 3

B. 5

C. 7

cot( − 2 cot − 1 3) =
π

4

https://dl.doubtnut.com/l/_8eY8FajcO2H9
https://dl.doubtnut.com/l/_AzzWd9feTEdz
https://dl.doubtnut.com/l/_wNspJoD3LN6D


D. 9

Answer: C

Watch Video Solution

11. 

A. 1

B. 0

C. -1

D. 5

Answer: B

Watch Video Solution

sin[ + cos − 1( − )] =
π

3

1

2

12. sin{sin− 1 + cos − 1 } =
1

2

1

2

https://dl.doubtnut.com/l/_wNspJoD3LN6D
https://dl.doubtnut.com/l/_tIOcs2g2lQzR
https://dl.doubtnut.com/l/_QULHoUf5CWoN


A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

13. 

A. 5

B. 10

C. 15

D. 20

Answer: C

Watch Video Solution

sec2(tan− 1 2) + cos ec2(cot − 1 3) =

https://dl.doubtnut.com/l/_QULHoUf5CWoN
https://dl.doubtnut.com/l/_ltTYGDA7Rnht


14. 

A. 1

B. 2

C. 4

D. 5

Answer: A

Watch Video Solution

tan(tan− 1 + tan− 1 ) =
1

2

1

3

15. 

A. 33/65

B. 65/33

C. 23/65

cos(sin− 1 + sin− 1 ) =
3

5

5

13

https://dl.doubtnut.com/l/_ltTYGDA7Rnht
https://dl.doubtnut.com/l/_Xpg0duGcbKmw
https://dl.doubtnut.com/l/_o6JfJkmuFSF9


D. 65/23

Answer: A

Watch Video Solution

16. Find the value of 

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

tan( + )
cos − 1 4

5

tan− 1 2

3

11/6

13/6

17/6

17. sin− 1( ) + sin− 1( ) =
3

5

8

17

https://dl.doubtnut.com/l/_o6JfJkmuFSF9
https://dl.doubtnut.com/l/_7zHOQ7rltfTo
https://dl.doubtnut.com/l/_rDTOdqScsdxn


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1( )
56

65

sin− 1( )
33

65

sin− 1( )
77
85

sin− 1( )
3

5

18. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos − 1( ) + cos − 1( ) =
3

5

12

13

cos − 1( )
16

65

cos − 1( )
33

65

cos − 1( )
77
85

cos − 1( )
12

13

https://dl.doubtnut.com/l/_rDTOdqScsdxn
https://dl.doubtnut.com/l/_xrG5PnB2R0Vf


19. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1( ) − sin− 1( ) =
4
5

5

13

sin− 1( )
56

65

sin− 1( )
33

65

sin− 1( )
77
85

sin− 1( )
3

5

20. 

A. 

B. 

C. 

cot − 1( ) − cot − 1( ) =
4

3

15

8

cot − 1( )
16

65

cot − 1( )
84

65

cot − 1( )
84

85

https://dl.doubtnut.com/l/_xrG5PnB2R0Vf
https://dl.doubtnut.com/l/_GqWnO2Bnka71
https://dl.doubtnut.com/l/_xA3Fe8NG9uVF


D. 

Answer: D

Watch Video Solution

cot − 1( )
84
13

21. 

A. 

B. 

C. 

D. -1

Answer: C

Watch Video Solution

cos − 1( ) + cos − 1( ) = cos − 1 x ⇒ x =
5

13

3

5

3

65

−36

65

−33

65

22. sin− 1( ) + tan− 1( ) =
24
25

5

12

https://dl.doubtnut.com/l/_xA3Fe8NG9uVF
https://dl.doubtnut.com/l/_g8P5RDWC2jjN
https://dl.doubtnut.com/l/_6MWavXlJ8fPQ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan− 1( )
27
11

tan− 1( )
16

63

sin− 1( )
16

65

cos − 1( − )
36

325

23. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1( ) − cos − 1( ) =
3

5

12

13

tan− 1( )
27
11

tan− 1( )
16

65

sin− 1( )
16

65

sin− 1( )
3

5

https://dl.doubtnut.com/l/_6MWavXlJ8fPQ
https://dl.doubtnut.com/l/_fR5GWSXnsPFE


24. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin− 1( ) + cos − 1( ) =
3

5

5

√34

tan− 1( )
27
11

tan− 1( )
16

63

sin− 1( )
16

65

sin− 1( )
3

5

25. 

A. 

B. 0

C. 

cos[cos − 1( − ) + sin− 1( − )] =
1

7

1

7

−1/3

1/3

https://dl.doubtnut.com/l/_fR5GWSXnsPFE
https://dl.doubtnut.com/l/_5uwYRlZdbYx5
https://dl.doubtnut.com/l/_Dj3X7oln0Uww


D. 

Answer: B

Watch Video Solution

4/9

26. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1( ) + cos − 1( − ) − tan− 1( − √3) − cot − 1( ) =
−√2

2

1

2

1

√3

5π/6

5π/12

7π/12

7π/6

https://dl.doubtnut.com/l/_Dj3X7oln0Uww
https://dl.doubtnut.com/l/_Oc1GnsqHbsCq


27. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos − 1( ) − 2 sin− 1( ) + 3 cos − 1( ) − 4 tan− 1( − 1) =
−1

2

1

2

−1

√2

19π

12

35π

12

47π
12

43π
12

28. 

A. 

B. 

C. 

D. 

tan− 1 2 + tan− 1 3 =

3π/4

π/2

π/4

π

https://dl.doubtnut.com/l/_osh7nNFqBl7r
https://dl.doubtnut.com/l/_73CUO1pAfdtd


Answer: A

Watch Video Solution

29. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1( ) − tan− 1( ) =
x

y

x − y

x + y

π/2

π/3

π/4

−3π/4

30. If , then 

 is equal to

x > 0, y > 0 and x > y

tan− 1(x/y) + tan− 1[(x + y) /(x − y)]

https://dl.doubtnut.com/l/_73CUO1pAfdtd
https://dl.doubtnut.com/l/_SeP91zOqq6oL
https://dl.doubtnut.com/l/_PzMDAGwKA55k


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

−π/4

π/4

3π/4

31. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1 + tan− 1 =
1

4

2

9

π/4

tan− 1 1/2

2 tan− 1 3/5

−π/4

https://dl.doubtnut.com/l/_PzMDAGwKA55k
https://dl.doubtnut.com/l/_lFqB85AWxwVW


32. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1 + tan− 1 =
1

2

1

3

π/2

π/4

π/3

π/6

33. 

A. 

B. 

C. 

tan− 1 − tan− 1 =
3

2

1

5

π

π/2

π/4

https://dl.doubtnut.com/l/_lFqB85AWxwVW
https://dl.doubtnut.com/l/_JaWiEpUdxIBB
https://dl.doubtnut.com/l/_bThbY4DJuRhD


D. 

Answer: C

Watch Video Solution

3π/4

34. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sec− 1 + cos ec− 1√17 =
√34

5

π

π/2

π/4

3π/4

35. The value of  iscot(cosec− 1 + tan− 1 )
5

3

2

3

https://dl.doubtnut.com/l/_bThbY4DJuRhD
https://dl.doubtnut.com/l/_KXhUiJUy3qYR
https://dl.doubtnut.com/l/_JVxRUNvaHsnq


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3/17

4/17

5/17

6/17

36. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2tan− 1 + tan− 1 =
1

3

1

7

π

π/2

π/4

3π/4

https://dl.doubtnut.com/l/_JVxRUNvaHsnq
https://dl.doubtnut.com/l/_qls4VXYa4Pfx


37. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4 tan− 1( ) − tan− 1( ) =
1

5

1

239

π

π/2

π/4

3π/4

38. Prove that .

A. 

B. 

C. 

sin− 1( ) + 2 tan− 1( ) =
4
5

1

3

π

2

π/3

π/4

π/2

https://dl.doubtnut.com/l/_qls4VXYa4Pfx
https://dl.doubtnut.com/l/_BE6YaUoUePUk
https://dl.doubtnut.com/l/_ErcUs6WQd5Sg


D. 0

Answer: C

Watch Video Solution

39. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin− 1( ) + 2 tan− 1( ) =
16

65

1

5

cos − 1( )
3

4

cos − 1( )
4
3

cos − 1( )
5

4

cos − 1( )
4
5

40. cos − 1( ) + 2 tan− 1( ) =
63

65

1

5

https://dl.doubtnut.com/l/_ErcUs6WQd5Sg
https://dl.doubtnut.com/l/_tVwEVaz4Zm5k
https://dl.doubtnut.com/l/_uXheAMINRVRk


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan− 1( )
27
11

tan− 1( )
16

63

sin− 1( )
16

65

sin− 1( )
3

5

41. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1 + tan− 1 =
5

6

1

2

11

60

π

π/2

π/4

3π/4

https://dl.doubtnut.com/l/_uXheAMINRVRk
https://dl.doubtnut.com/l/_WQ67YQhF0dNT


42. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2tan− 1 + tan− 1 + 2tan− 1 =
1

5

1

7

1

8

π

π/2

π/4

3π/4

43. 

A. 

B. 

C. 

4tan− 1 − tan− 1 + tan− 1 =
1

5

1

70

1

99

π

π/2

π/4

https://dl.doubtnut.com/l/_WQ67YQhF0dNT
https://dl.doubtnut.com/l/_dltkJ5DKhlSB
https://dl.doubtnut.com/l/_s6xOuzDXPxP4


D. 

Answer: C

Watch Video Solution

3π/4

44. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1 + tan− 1 + tan− 1 + tan− 1 =
1

3

1

5

1

7

1

8

π

π/2

π/4

3π/4

45. The value of  iscot[cot − 1 7 + cot − 1 8 + cot − 1(18)]

https://dl.doubtnut.com/l/_s6xOuzDXPxP4
https://dl.doubtnut.com/l/_itCgmG5sHc9N
https://dl.doubtnut.com/l/_vUOkPrUb1NRE


A. 4

B. 5

C. 6

D. 3

Answer: D

Watch Video Solution

46. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin− 1(x√1 − y2 + y√1 − x2) =

sin− 1 x + sin− 1 y

cos − 1 x + cos − 1 y

tan− 1 x + tan− 1 y

cot − 1 x + cot − 1 y

https://dl.doubtnut.com/l/_vUOkPrUb1NRE
https://dl.doubtnut.com/l/_peoUxrSF8Nie


47. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos − 1(xy − √1 − x2√1 − y2) =

sin− 1 x + sin− 1 y

cos − 1 x + cos − 1 y

tan− 1 x + tan− 1 y

cot − 1 x + cot − 1 y

48. 

A. 

B. 

C. 

tan− 1( ) =
3x − x3

1 − 3x2

2 tan− 1 x

3 tan− 1 x

4 tan− 1 x

https://dl.doubtnut.com/l/_peoUxrSF8Nie
https://dl.doubtnut.com/l/_WoM93WO4Iri5
https://dl.doubtnut.com/l/_uoniulJDgPOF


D. 

Answer: B

Watch Video Solution

5 tan− 1 x

49. 

A. x

B. 2x

C. x/2

D. none

Answer: A

Watch Video Solution

tan[2 tan− 1( )] =
√1 + x2 − 1

x

50. tan(cos − 1 x) =

https://dl.doubtnut.com/l/_uoniulJDgPOF
https://dl.doubtnut.com/l/_RkdSI1ZdkJZy
https://dl.doubtnut.com/l/_vDA7ulnwZjZ3


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√1 − x2

x

x

1 − x2

√1 + x2

x

√1 − x2

51. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin(cot − 1(cos(tan− 1 x))) =

√x2 + 2

x2 + 1

√x2 + 1

√x2 + 2

x

√x2 + 2
1

√x2 + 2

https://dl.doubtnut.com/l/_vDA7ulnwZjZ3
https://dl.doubtnut.com/l/_Lot7kFTxtEvq


52. Prove that 

A. 

B. 

C. 

D. x

Answer: C

Watch Video Solution

cos[tan− 1{sin(cot − 1 x)}] = √
x2 + 1

x2 + 2

( )
1 / 2

x2 + 2

x2 + 3

( )
1 / 2

x3 + 3

x2 + 4

( )
1 / 2

x2 + 1

x2 + 2

53. 

A. 

B. 

C. 

2 tan− 1(cos x) =

tan− 1(2 cos x ⋅ secx)

tan− 1(2 cot x ⋅ cos ecx)

tan− 1(2 sinx ⋅ cos ecx)

https://dl.doubtnut.com/l/_Lot7kFTxtEvq
https://dl.doubtnut.com/l/_53hFFA4IV7mz
https://dl.doubtnut.com/l/_WcCU9x6ZlONu


D. 

Answer: B

Watch Video Solution

tan− 1(2 sinx ⋅ cot x)

54. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan(2 tan− 1(sinx)) =

2 tanx sinx

2 tanx cos ecx

2 tanx secx

2 cot x sinx

55. tan− 1(cot x) − tan− 1(cot 2x) =

https://dl.doubtnut.com/l/_WcCU9x6ZlONu
https://dl.doubtnut.com/l/_rf6oNNLGtaDL
https://dl.doubtnut.com/l/_48cXRecKCqNR


A. 2x

B. x

C. 3x

D. x/2

Answer: B

Watch Video Solution

56. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 tan− 1( tan ) =
√a − b

a + b

x

2

cos − 1( )
b + a cos x

a + b cos x

cos − 1( )
b + a cos x

a − b cos x

cos − 1( )
b − a cos x

a + b cos x

cos − 1( )
b − a cos x

a − b cos x

https://dl.doubtnut.com/l/_48cXRecKCqNR
https://dl.doubtnut.com/l/_wXCjIvkVTgl7


Watch Video Solution

57. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan[ sin− 1 + cos − 1 ] =
1

2

2a

1 + a2

1

2

1 − a2

1 + a2

2a

1 + a2

2a

1 − a2

a

1 + a2

a

1 − a2

58. 

A. 0

B. 1

C. 

tan[ sin− 1( ) − cos − 1( )] =
1

2

2x

1 + x2

1

2

1 − y2

1 + y2

x − y

1 + xy

https://dl.doubtnut.com/l/_wXCjIvkVTgl7
https://dl.doubtnut.com/l/_CqtNJtnwoQWi
https://dl.doubtnut.com/l/_svI3rDIsQfMe


D. 

Answer: C

Watch Video Solution

2x

1 − x2

59. Prove that .

A. 0

B. 1

C. 

D. 

Answer: B

Watch Video Solution

sin[ + cos − 1( )] = 1
cot − 1(2x)

1 − x2

1 − x2

1 + x2

x − y

1 + xy

2x

1 − x2

60. The value of  istan[tan− 1( ) + tan− 1( )]
1

a + b

b

a2 + ab + 1

https://dl.doubtnut.com/l/_svI3rDIsQfMe
https://dl.doubtnut.com/l/_PSM38sagn05v
https://dl.doubtnut.com/l/_0mYVkyM2JTSW


A. a

B. 1/a

C. b

D. 1/b

Answer: B

Watch Video Solution

61. Prove that

.

A. b/a

B. a/b

C. 2a/b

D. 2b/a

Answer: D

tan{ + cos − 1( )} + tan{( − )} =
π

4

1

2
a

b

π

4

1

2

cos − 1 a

b

2b

a

https://dl.doubtnut.com/l/_0mYVkyM2JTSW
https://dl.doubtnut.com/l/_87uzuWMfH16N


Watch Video Solution

62. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cot − 1{ } =
√1 − sinx + √1 + sinx

√1 − sinx − √1 + sinx

π −
x

2

2π − x

π

2

2π −
x

2

63. 

A. 

B. 

tan− 1 + tan− 1 + tan− 1 =
a − b

1 + ab

b − c

1 + bc

c − a

1 + ca

π/4

π/2

https://dl.doubtnut.com/l/_87uzuWMfH16N
https://dl.doubtnut.com/l/_I2Oda9m4V0Mt
https://dl.doubtnut.com/l/_0hNjWYQyGGQX


C. 0

D. 

Answer: C

Watch Video Solution

π

64. Id  are distinct non-zero real numbers having the same sign.

Prove that 

.

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

a, b, c

cot − 1( ) + cot − 1( ) + cot − 1( ) = π( or )2π
ab + 1

a − b

bc + 1

b − c

ca + 1

c − a

π/2

π

3π/2

https://dl.doubtnut.com/l/_0hNjWYQyGGQX
https://dl.doubtnut.com/l/_XJvAzeSGkuYu


65. If a,b,c, are positive then 

 


A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan− 1 √ + tan− 1 √ +
a(a + b + c)

bc

b(a + b + c)

ca

tan− 1 √ =
c(a + b + c)

ab

π

π/2

π/4

66. 

A. 

tan− 1 + tan− 1 + tan− 1yz

x√x2 + y2 + z2

zx

y√x2 + y2 + z2

xy

z√x2 + y2 + z

π

https://dl.doubtnut.com/l/_XJvAzeSGkuYu
https://dl.doubtnut.com/l/_3oyxiqjPp8Jq
https://dl.doubtnut.com/l/_MS999cgA0dnR


B. 

C. 

D. 

Answer: B

Watch Video Solution

π/2

π/3

π/4

67. 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

tan− 1 + tan− 1 + tan− 1 + ...tan− 1 =
c1x − y

c1y + x

c2 − c1

1 + c2c1

c3 − c2

1 + c3c2

1

cn

tan− 1(2x/y)

tan− 1(xy)

tan− 1(x/y)

https://dl.doubtnut.com/l/_MS999cgA0dnR
https://dl.doubtnut.com/l/_NdMOGWPYv4dD


68. If

, then  =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1 + tan− 1 + tan− 1 + ...tan− 11

1 + 2

1

1 + (2)(3)

1

1 + (3)(4)

1

1 + n(n +

θ

n

n + 1

n + 1

n + 2

n

n + 2

n − 1

n + 2

69. If  is an A.P. with common difference d, then 


A. 

a1, a2, a3, .... , an

tan[tan− 1( ) + tan− 1( ) + ...tan− 1( ) =
d

1 + a1a2

d

1 + a2a3

d

1 + an− 1an

(n − 1)d

a1 + an

https://dl.doubtnut.com/l/_NdMOGWPYv4dD
https://dl.doubtnut.com/l/_APa3H9MnJDaU
https://dl.doubtnut.com/l/_TMfW1Z4R1Sg9


B. 

C. 

D. 

Answer: B

Watch Video Solution

(n − 1)d

1 + a1an

nd

1 + a1an

an − a1

an + a1

70. If , then 

A. 

B. 

C. 0

D. none

Answer: D

Watch Video Solution

x2 + y2 + z2 = r2

tan− 1( ) + tan− 1( ) + tan− 1( ) =
xy

zr

yz

xr

xz

yr

π

π/2

https://dl.doubtnut.com/l/_TMfW1Z4R1Sg9
https://dl.doubtnut.com/l/_bPJ9Vd2dRMa3


71. If , then sin u=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

u = tan− 1( ) − tan− 1(√cos 2θ)
1

√cos 2θ

cot2 θ

sin2 θ

cos2 θ

tan2 θ

72. If , then 

A. 

B. 

C. 

0 ≤ x ≤
1

2
sin− 1 x + sin− 1( − ) =

x

2

√3 − 3x2

2

π

π/2

π/3

https://dl.doubtnut.com/l/_bPJ9Vd2dRMa3
https://dl.doubtnut.com/l/_Cue1sdGWpOOi
https://dl.doubtnut.com/l/_ZjLNBsALUeoR


D. 

Answer: C

View Text Solution

π/4

73. If  then 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

≤ x ≤ 1
1

2
cos − 1 x + cos − 1( − ) =

x

2

√3 − 3x2

2

π

2

π

4

π

3

2 cos − 1 x −
π

3

74. If y is infinite and  thentan− 1 y = 4 tan− 1 x

https://dl.doubtnut.com/l/_ZjLNBsALUeoR
https://dl.doubtnut.com/l/_fzWPSZbrMPoZ
https://dl.doubtnut.com/l/_xbMyLXwop9Hk


A. 

B. 

C. 

D. all values of x

Answer: A

Watch Video Solution

x = 1 ± √2

x = √2 ± √3

x = 3 ± 2√2

75. If  then 

A. xyz

B. 3xyz

C. 

D. 0

Answer: A

Watch Video Solution

tan− 1 x + tan− 1 y + tan− 1 z = π x + y + z =

√xyz

https://dl.doubtnut.com/l/_xbMyLXwop9Hk
https://dl.doubtnut.com/l/_xwX4umlCjIXE


76. If  then 1 - xy - yz - zx =

A. 1

B. 0

C. -1

D. 2

Answer: B

Watch Video Solution

tan− 1 x + tan− 1 y + tan− 1 z = π/2

77. If 

A. 0

B. 1

C. xyz

cos − 1 x + cos − 1 y + cos − 1 z = π, then x2 + y2 + z2 + 2xyz =

https://dl.doubtnut.com/l/_xwX4umlCjIXE
https://dl.doubtnut.com/l/_TOvlYvr48bqn
https://dl.doubtnut.com/l/_emad5qStIFns


D. 2xyz

Answer: B

Watch Video Solution

78. If

A. 0

B. 1

C. xyz

D. 2xyz

Answer: B

Watch Video Solution

sin− 1 x + sin− 1 y + sin− 1 z = π/2, then x2 + y2 + z2 + 2xyz =

https://dl.doubtnut.com/l/_emad5qStIFns
https://dl.doubtnut.com/l/_n1DjxSJ2YP7W


79. If  then prove that n 

z

A. 0

B. 1

C. xyz

D. 2xyz

Answer: D

Watch Video Solution

sin− 1 x + sin− 1 y + sin− 1 z = π

x√1 − x2 + y√1 − y2 + z√1 − z2 = 2xy

80. If  then

A. x + y + z = 0

B. x + y + z = 1

C. x + y + z = xyz

sec− 1 √1 − x2 + cos ec− 1 + cot − 1 = 3π
√1 + y2

y

1

z

https://dl.doubtnut.com/l/_Nuqn3g6YMWgX
https://dl.doubtnut.com/l/_NYlNBOqnLRtN


D. none

Answer: C

Watch Video Solution

81. If 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos − 1( ) + cos − 1( ) = θ, then − cos θ + =
x

a

y

b

x2

a2

2xy

ab

y2

b2

sin2
θ

cos2 θ

tan2 θ

cot2 θ

82. If cos − 1(x/2) + cos − 1(y/3) = θ  then 9x2 − 12xy cos θ + 4y2 =

https://dl.doubtnut.com/l/_NYlNBOqnLRtN
https://dl.doubtnut.com/l/_xyak4AuKgF40
https://dl.doubtnut.com/l/_iekpHsecIJ2F


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

36 sin2 θ

37 sin2 θ

39 sin2 θ

83. If 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1 x + sin− 1 y = 2π/3, then cos − 1 x + cos − 1 y =

2π/3

π/3

π/6

π

https://dl.doubtnut.com/l/_iekpHsecIJ2F
https://dl.doubtnut.com/l/_JLudBxVKUB8q


84. If , then the value of 

A. -1

B. 0

C. 1

D. 3

Answer: B

Watch Video Solution

sin− 1 x + sin− 1 y + sin− 1 z =
3π

2

x100 + y100 + z100 −
9

x101 + y101 + z101

85. If  then prove that .

A. 

B. 

α = tan− 1( )
√1 + x2 − √1 − x2

√1 + x2 + √1 − x2
x2 = sin 2α

cos 2α

tan 2α

https://dl.doubtnut.com/l/_JLudBxVKUB8q
https://dl.doubtnut.com/l/_QuL34F1m2bDV
https://dl.doubtnut.com/l/_ElghJ6OkeXJS


C. 

D. none

Answer: C

Watch Video Solution

sin 2α

86. If 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

tan− 1(1/7) = α, tan− 1(1/3) = β  then cos 2α =

sin 2β

sin 4β

sin 3β

https://dl.doubtnut.com/l/_ElghJ6OkeXJS
https://dl.doubtnut.com/l/_IuIXcEdbuGGr


87. Solve .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1 x + sin− 1 2x =
π

3

3/28

√3/28

√3/28

3/√28

88. If , then x =

A. 

B. 

C. 2

D. No solution

tan− 1 2x + tan− 1 3x = π/4

1/4

1/6

https://dl.doubtnut.com/l/_WiKVKaXbEeUy
https://dl.doubtnut.com/l/_xtFijtXkmDXk


Answer: B

Watch Video Solution

89. If  then x =

A. 

B. 

C. 2

D. No solution

Answer: D

Watch Video Solution

2 tan− 1 x + sec− 1 x = π/2

1/4

1/6

90. If  then x =

A. ab

tan− 1 + tan− 1 =
a

x

b

x

π

2

https://dl.doubtnut.com/l/_xtFijtXkmDXk
https://dl.doubtnut.com/l/_kitkbzSQsWD6
https://dl.doubtnut.com/l/_hh4lJqX8kkoS


B. 2ab

C. 

D. 

Answer: C

Watch Video Solution

√ab

√2ab

91. If , then

x =

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

tan− 1(1/(a − 1)) = tan− 1(1/x) + tan− 1[1/(a2 − x + 1)]

2a or a2 + a + 1

a or a2 − a + 1

a or a2 + 2a + 1

https://dl.doubtnut.com/l/_hh4lJqX8kkoS
https://dl.doubtnut.com/l/_TlL60uRN7xtV


92. If , then x =

A. 10

B. 11

C. 12

D. 13

Answer: D

Watch Video Solution

sin− 1 + sin− 1 =
5

x

12

x

π

2

93. If  then a value of x is

A. 1

B. 3

C. 4

D. 5

sin− 1(x/5) + cos ec− 1(5/4) = π/2

https://dl.doubtnut.com/l/_TlL60uRN7xtV
https://dl.doubtnut.com/l/_Cv7Bgz5245Oq
https://dl.doubtnut.com/l/_pNfVAlGCH5uN


Answer: B

Watch Video Solution

94. If  then find x.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1 x − cos − 1 x =
π

6

1

2

√3

2

−1

2

−√3

2

95. If  then x =

A. 0, 1/2

sin− 1 x + sin− 1(1 − x) = cos − 1 x

https://dl.doubtnut.com/l/_pNfVAlGCH5uN
https://dl.doubtnut.com/l/_eRGeytmy9WOF
https://dl.doubtnut.com/l/_McG2FzRpmLMD


B. 

C. 

D. 

Answer: A

Watch Video Solution

−1, 1/2

1, − 1/2

1/2, 1

96. The equation  has

A. no solution

B. unique solution

C. infinite number of solutions

D. none

Answer: B

Watch Video Solution

sin− 1 x − cos − 1 x = cos − 1(√3/2)

https://dl.doubtnut.com/l/_McG2FzRpmLMD
https://dl.doubtnut.com/l/_o2Vk0fgiDEX8
https://dl.doubtnut.com/l/_jud5FXm4PD0d


97. If , then x =

A. 

B. 

C. 

D. No solution

Answer: B

Watch Video Solution

tan− 1(x + 1) + tan− 1(x − 1) = tan− 1(4/7)

1/4, 1/2

−4, 1/2

2, 1/4

98. A solution of the equation  is

A. x = 1

B. x = -1

C. x = 0

D. 

tan− 1(1 + x) + tan− 1(1 − x) = π/2

x = π

https://dl.doubtnut.com/l/_jud5FXm4PD0d
https://dl.doubtnut.com/l/_f5RYhJLF4JjG


Answer: C

Watch Video Solution

99.  then x =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin− 1 x − cos − 1 x = sin− 1(3x − 2), if x > 0

0, 1/2

−1, 1/2

1, − 1/2

1/2, 1

100. If  then x =

A. 

2 tan− 1(cos x) = tan− 1(2 cos ecx)

π/4

https://dl.doubtnut.com/l/_f5RYhJLF4JjG
https://dl.doubtnut.com/l/_RKlcdd7Aoqqs
https://dl.doubtnut.com/l/_7MpTUkEKmQz2


B. 

C. 

D. No solution

Answer: A

Watch Video Solution

π/6

π/2

101.  then x =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan(cos − 1 1/x) = sin(cot − 1 1/2), if x ≠ 0

±3/5

±3/√5

±√3/5

±√3/5

https://dl.doubtnut.com/l/_7MpTUkEKmQz2
https://dl.doubtnut.com/l/_Y45rhmrQvLRV
https://dl.doubtnut.com/l/_mPG6NBIcbUMD


102. The value of x where 

is

A. 

B. 

C. 1

D. 

Answer: B

Watch Video Solution

x > 0 and tan(sec− 1( )) = sin(tan− 1 2)
1

x

√5

√5/3

2/3

103. If , then x =

A. 

B. 

C. 

sin− 1( ) + sin− 1( ) = 2 tan− 1 x
2a

1 + a2

2b

1 + b2

a + b

1 − ab

a − b

1 + ab

ab − 1

a + b

https://dl.doubtnut.com/l/_mPG6NBIcbUMD
https://dl.doubtnut.com/l/_3RWKqBw5LuYk


D. 

Answer: A

Watch Video Solution

ab + 1

a − b

104. If , then x =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1( ) + cot − 1( ) =
x − 1

x − 2

x + 2

x + 1

π

4

1

√2

±
1

√2

±
1

√3

1

√3

105. If , then x =tan− 1( ) + tan− 1( ) = π + tan− 1( − 7)
x + 1

x − 1

x − 1

x

https://dl.doubtnut.com/l/_3RWKqBw5LuYk
https://dl.doubtnut.com/l/_PvbqKqkFkqkA
https://dl.doubtnut.com/l/_Hq2JZWOQcS6w


A. 2

B. -2

C. 1

D. No solution

Answer: A

Watch Video Solution

106. If , then x =

A. 2

B. -2

C. 1

D. No solution

Answer: A

Watch Video Solution

3 tan− 1( ) − tan− 1( ) = tan− 1( )
1

2 + √3

1

x

1

3

https://dl.doubtnut.com/l/_Hq2JZWOQcS6w
https://dl.doubtnut.com/l/_TCYJvfmfe7Sv


Watch Video Solution

107. If , then k =

A. 29/27

B. 

C. 

D. 

Answer: C

Watch Video Solution

cot − 1 + cot − 1 = tan− 1 k
4

3

5

3

−29/27

27/11

−27/29

108. If , then the value of k

is

A. 

B. 

sec− 1 + cot − 1 = sin− 1 k
1

√1 − x2

√1 − x2

x

x√1 − x2

2x√1 − x2

https://dl.doubtnut.com/l/_TCYJvfmfe7Sv
https://dl.doubtnut.com/l/_daKs8cbaRPcG
https://dl.doubtnut.com/l/_duvKbJcaYAiO


C. 

D. 2x

Answer: B

Watch Video Solution

√1 − x2

109. If  then x =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos − 1 x = cot − 1(4/3) + tan− 1(1/7)

1/2

√3/2

1/√2

3/5

https://dl.doubtnut.com/l/_duvKbJcaYAiO
https://dl.doubtnut.com/l/_8EdB8gqvpXug


110. If , then x =

A. 51/65

B. 52/65

C. 56/65

D. none of these

Answer: C

Watch Video Solution

sin− 1(3/5) + sin− 1(5/13) = sin− 1 x

111. If  then x =

A. -1

B. 1

C. 0

D. 

cos − 1 − sin− 1 = cos − 1 x
3

5
4
5

π/2

https://dl.doubtnut.com/l/_m6VWldz8Ggqi
https://dl.doubtnut.com/l/_iqkOZszxjA7b


Answer: B

Watch Video Solution

112. If  then x =

A. 3

B. 5

C. 7

D. 11

Answer: B

Watch Video Solution

sin− 1( ) + sin− 1( ) =
3

x

4
x

π

2

113. If , then the value of x is

A. 2

cot − 1 x + sin− 1(1/√5) = π/4

https://dl.doubtnut.com/l/_iqkOZszxjA7b
https://dl.doubtnut.com/l/_33UuRy9w05tl
https://dl.doubtnut.com/l/_rwxTkth5RODU


B. 1

C. 3

D. none

Answer: C

Watch Video Solution

114. If  then the value of x is

A. 44/117

B. 125/117

C. 

D. 

Answer: B

Watch Video Solution

cos ec− 1x = 2 cot − 1 7 + cos − 1(3/5)

24/7

5/3

https://dl.doubtnut.com/l/_rwxTkth5RODU
https://dl.doubtnut.com/l/_7S2qWSfdl4jx
https://dl.doubtnut.com/l/_3q9V1qY4N6cW


115. If  then k =

A. 2

B. 4

C. 

D. 

Answer: C

Watch Video Solution

tan− 1(secx + tanx) = π/4 + kx

1/2

1/4

116. Solve

A. 

B. 

C. 

D. 

3 sin− 1( ) − 4 cos − 1( ) + 2 tan− 1( ) =
2x

1 + x2

1 − x2

1 + x2

2x

1 − x2

π

3

√2

1/√2

√3

1/√3

https://dl.doubtnut.com/l/_3q9V1qY4N6cW
https://dl.doubtnut.com/l/_Enn9luNEDHb8


Answer: D

Watch Video Solution

117. If , then x =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1[ ] = tan− 1 x
1

2

3 sin 2θ

5 + 4 cos 2θ

tan 3θ

3 tan θ

(1/3)tan θ

3 cot θ

118. If , then

x is equal to

sec− 1( ) − sec− 1( ) = sec− 1(b) − sec− 1(a) and a ≠ b
x

a

x

b

https://dl.doubtnut.com/l/_Enn9luNEDHb8
https://dl.doubtnut.com/l/_yV45dvCnmRbz
https://dl.doubtnut.com/l/_RCXi811lHZ9D


A. ab

B. b/a

C. a/b

D. 1/ab

Answer: A

Watch Video Solution

119. If  where , then 

A. 

B. 

C. 

D. none of these

Answer: A

a = sin(cot − 1 x) and b = cot(sin− 1 x) x > 0

1/x2 − x2 =

b2

a2

a2

b2

a2 + 1

b2 − 1

https://dl.doubtnut.com/l/_RCXi811lHZ9D
https://dl.doubtnut.com/l/_BQ9kMnhV7wgK


View Text Solution

120. If , then x =

A. 

B. 

C. 

D. 6

Answer: C

Watch Video Solution

tan− 1 2x + tan− 1 3x = π/4

1/2

1/4

1/6

121. If , then x =

A. 1

B. 

C. 

tan− 1(x + 1) + tan− 1(x − 1) = tan− 1(8/31)

1/2

−1/2

https://dl.doubtnut.com/l/_BQ9kMnhV7wgK
https://dl.doubtnut.com/l/_rhAN3ojwNduM
https://dl.doubtnut.com/l/_BAFJuvXC1Xel


D. 

Answer: D

Watch Video Solution

1/4

122. If  then x =

A. 2

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan− 1(1 + x) + tan− 1(1 − x) = π/4

±2

√2

±√2

123. A solution of the equation  istan− 1(1 + x) − tan− 1(x − 1) = π/2

https://dl.doubtnut.com/l/_BAFJuvXC1Xel
https://dl.doubtnut.com/l/_qNgV2eYUngly
https://dl.doubtnut.com/l/_cnjzhDpRjtyR


A. x = 1

B. x = -1

C. x = 0

D. 

Answer: C

Watch Video Solution

x = π

124. 

A. -1

B. 1

C. 0

D. 

Answer: A

Watch Video Solution

(tan− 1 x)
2

+ (cot − 1 x)
2

= 5π2 /8 ⇒ x =

π
√5

8

https://dl.doubtnut.com/l/_cnjzhDpRjtyR
https://dl.doubtnut.com/l/_ns3Se3gyfR2K


125. The arithmetic mean of the non-zero solutions of the equation 

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1 + tan− 1 = tan− 11

2x + 1

1

4x + 1

2

x2

2/3

7/3

7/6

11/6

126. The number of real solutions of

 is

A. zero

B. one

tan− 1 √x(x + 1) + sin− 1 √x2 + x + 1 = π/2

https://dl.doubtnut.com/l/_ns3Se3gyfR2K
https://dl.doubtnut.com/l/_TEcWnNu0iGkm
https://dl.doubtnut.com/l/_plW1uNmXcqCS


C. two

D. infinite

Answer: C

Watch Video Solution

127. An integral solution of the equation

 is

A. (1, 4)

B. (4, 13)

C. (2, 1)

D. none of these

Answer: D

Watch Video Solution

tan− 1 x + tan− 1(1/y) = tan− 1 3

https://dl.doubtnut.com/l/_plW1uNmXcqCS
https://dl.doubtnut.com/l/_pfMsIyeHcNQK
https://dl.doubtnut.com/l/_mxx0iWRydv8E


128. The solution of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1 − cos − 1 = tan− 12a

1 + a2

1 − b2

1 + b2

2x

1 − x2

a + b

1 − ab

a − b

1 + ab

ab − 1

a + b

ab + 1

a − b

129. If , then x is a root of the

equation

A. 

B. 

C. 

D. 

sin− 1(tanπ/4) − sin− 1 √3/x − π/6 = 0

x2 − x − 6 = 0

x2 + x − 6 = 0

x2 − x − 12 = 0

x2 + x − 12 = 0

https://dl.doubtnut.com/l/_mxx0iWRydv8E
https://dl.doubtnut.com/l/_NTAWAsFNfoLw


Answer: C

Watch Video Solution

130. If , then the smallest

interval in which  lies is given by

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

θ = sin− 1 x + cos − 1 x − tan− 1 x, 0 ≤ x ≤ 1

θ

π/4 ≤ θ ≤ π/2

−π/4 ≤ θ ≤ 0

0 ≤ θ ≤ π/4

π/2 ≤ θ ≤ 3π/4

131. The trigonometric equation , has a solution forsin− 1 x = 2 sin− 1 a

https://dl.doubtnut.com/l/_NTAWAsFNfoLw
https://dl.doubtnut.com/l/_hgnQOK1eBlML
https://dl.doubtnut.com/l/_d3nKRGqmJTLs


A. 

B. all real values of a

C. 

D. 

Answer: C

Watch Video Solution

< |a| <
1

2

1

√2

|a| <
1

√2

|a| ≥
1

√2

132. If , then 

A. x

B. 

C. 1/x

D. 

Answer: B

Watch Video Solution

cos − 1 x = tan− 1 x sin(cos − 1 x) =

x2

1/x2

https://dl.doubtnut.com/l/_d3nKRGqmJTLs
https://dl.doubtnut.com/l/_sDVvlakBmiVi


133. The domain of  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1 x

[0, π]

[ − 1, 1]

( − ∞, ∞)

( − 1, 1)

134. The domain of  is

A. 

B. 

C. 

cos − 1 √2x

[ − 1, 1]

[ − 1/2, 1/2]

[0, 1/2]

https://dl.doubtnut.com/l/_sDVvlakBmiVi
https://dl.doubtnut.com/l/_oBb88ohLs8MW
https://dl.doubtnut.com/l/_N4GLI3I5gd3R


D. 

Answer: C

Watch Video Solution

(1, 1/2)

135. The domain of  is

A. 

B. [1, 2]

C. 

D. none

Answer: C

Watch Video Solution

sin− 1[log2(x
2 /2)]

[ − 2, − 1]

[ − 2, − 1] ∪ [1, 2]

136. The domain of  iscos − 1( )in [0, 2π]
2

2 + sinx

https://dl.doubtnut.com/l/_N4GLI3I5gd3R
https://dl.doubtnut.com/l/_ST5rP2WbFeN1
https://dl.doubtnut.com/l/_1D45CAMwE3rk


A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

[0, π]

[0, π/2]

[π/2, π]

137. The range of  is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

sin− 1 5x

[ − π/3, π/3]

[ − π/2, π/2]

[ − π/3, π/4]

https://dl.doubtnut.com/l/_1D45CAMwE3rk
https://dl.doubtnut.com/l/_lO9a4QGjiv5F


138. The range of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin− 1 x + cos − 1 x

{π}

{2π}

{π/3}

{π/2}

139. The range of  is

A. 

B. 

C. 

sin− 1 x − cos − 1 x

[ − , ]
3π

2

π

2

[ , ]
5π

3

π

3

[ − , π]
3π

2

https://dl.doubtnut.com/l/_lO9a4QGjiv5F
https://dl.doubtnut.com/l/_J6knZ1WX1NGr
https://dl.doubtnut.com/l/_O6KzgdPAM3fD


Exercise 2 Special Type Questions Set 1

D. none

Answer: A

Watch Video Solution

140. Two angles of a triangle are . Then the third

angle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cot − 1 2 and cot − 1 3

π/4

3π/4

π/6

π/3

https://dl.doubtnut.com/l/_O6KzgdPAM3fD
https://dl.doubtnut.com/l/_hZUBlLp50Iok


1. I.  


II. 

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: D

Watch Video Solution

sin− 1(sin ) =
2π

3

2π

3

cos − 1(cos ) =
5π

4

5π

4

2. I.  


II. 

A. only I is true

B. only II is true

sin(cos − 1 ) =
3

5

4

5

cos(tan− 1 ) =
7
24

24

25

https://dl.doubtnut.com/l/_iO0eI0WMXvWI
https://dl.doubtnut.com/l/_w9i2gC1azJXM


C. both I and II are true

D. neither I nor II are true

Answer: C

Watch Video Solution

3. I.  


II. 

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: C

Watch Video Solution

tan− 1 2 + tan− 1 3 =
3π

4

cos{cos − 1( ) + sin− 1( )} = 0
−1

7

−1

7

https://dl.doubtnut.com/l/_w9i2gC1azJXM
https://dl.doubtnut.com/l/_Nvh8fvzmp6wJ
https://dl.doubtnut.com/l/_87WNZoh18iSK


4. I.  has only one solution 


II.  has only one solution

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: C

View Text Solution

sin− 1 x = x

cos − 1 x = x

5. I. The value of  is 10 


II. The value of  is 

A. only I is true

B. only II is true

C. both I and II are true

sec2(tan− 1 2) + cos ec2(cot − 1 3)

tan{sin− 1( ) + cot − 1( )}
3

5

3

2

16

7

https://dl.doubtnut.com/l/_87WNZoh18iSK
https://dl.doubtnut.com/l/_4NvCGSIcXvqk


Exercise 2 Special Type Questions Set 2

D. neither I nor II are true

Answer: D

Watch Video Solution

6. I. The value of  


II. The value of 

A. only I is true

B. only II is true

C. both I and II are true

D. neither I nor II are true

Answer: C

Watch Video Solution

sin− 1(sin 5)  is 5 − 2π

cos − 1(cos 2)  is 2

https://dl.doubtnut.com/l/_4NvCGSIcXvqk
https://dl.doubtnut.com/l/_9v8egZTTyqPx


1. The ascending order of

 is

A. C, B, A

B. B, A, C

C. C, A, B

D. B, C, A

Answer: C

Watch Video Solution

A = sin− 1(log3
2), B = cos − 1(log3( )), C = tan− 1(log1 / 3 2)

1

2

2. The ascending order of

 is

A. B, A, C

B. B, C, A

C. A, B, C

A = sin− 1(sin ), cos − 1(cos ), C = tan− 1(tan )
8π

7

8π

7

8π

7

https://dl.doubtnut.com/l/_GS1tHAAtRnMx
https://dl.doubtnut.com/l/_XbrwgMHMQJjd


D. A, C, B

Answer: D

Watch Video Solution

3. The ascending order of

is

A. A, B, C

B. B, C, A

C. C, A, B

D. C, B, A

Answer: D

View Text Solution

A = sin[sin− 1 + sin− 1 ], B = cos[cos − 1 cos − 1 ], C = sin[sin−3

5

8

17

3

5

12

13

https://dl.doubtnut.com/l/_XbrwgMHMQJjd
https://dl.doubtnut.com/l/_yUNQH5mCwPiW


Exercise 2 Special Type Questions Set 4

1. A : The maximum value of

 


R : 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: D

Watch Video Solution

f(x) = sin− 1 x + cos − 1 x − tan− 1 x  is 3π/4

sin− 1 x + cos − 1 x = π/2 ∀x ∈ R

2. A : The value of  is equal to 2. 

R : 

tan− 1(4/3)

tan− 1(1/2)

∀x ∈ [0, 1], tan− 1( ) = 2 tan− 1 x
2x

1 − x2

https://dl.doubtnut.com/l/_7HMl1TUHt314
https://dl.doubtnut.com/l/_AN1hN4oUDYYU


A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

View Text Solution

3. A : If  then the value of 

 


R : If a  then the value of 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

4 sin− 1 x + cos − 1 x = π

4 cos − 1 x + sin− 1 x  is 3π/2

cos − 1 x + b sin− 1 x = k

b cos − 1 x + a sin− 1 x  is (a + b) − k
π

2

https://dl.doubtnut.com/l/_AN1hN4oUDYYU
https://dl.doubtnut.com/l/_SwBpqLEu8v65


Answer: A

View Text Solution

4. A : The domain of  


R : The domain of 

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: A

Watch Video Solution

sin− 1 2x  is [ − 1/2, 1/2]

sin− 1 x  is [ − 1, 1]

5. A : The range of  


R : The range of 

sin− 1 2x + cos − 1 2x  is {π}

sin− 1 x + cos − 1 x  is {π/2}

https://dl.doubtnut.com/l/_SwBpqLEu8v65
https://dl.doubtnut.com/l/_qUJ5K07L9pxW
https://dl.doubtnut.com/l/_jhQnjGziocLH


A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true but R is not correct explanation of A

C. A is true but R is false

D. A is false but R is true

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_jhQnjGziocLH

